- - E & % (27 —$0)

No. 1
2]
(1 1) 6-6V6 IR 4 ™6
(79 2) - | || me G RO Y] "
(R 3) o= -2, y= 10 "6
4| = 12 ™5 AP O o BRE 2B L,
(7 5) 2 " 5 AP, 12), KQE, £) L4Y,
(75 6) T‘f{ i ™ 6 PQ=12—12, AP=%
(R 7) " e B,
W47 PQSR MEHFT 225 L &,
PQ = 2AP
ChBND,
1242 =2
b5,
2+2%—-12=0 X9 t=-1+13
~ B t=-1+/13
t>0 Thahb,
t=-1++/13
XoT, RibBES PQORE,
] PQ=2t=-2+2/13 (cm)
C@n  ra- —2+wB o |
13
(F 3) of F 0 6




B % E & (27 —%7)
No. 2
(3]
| (5 |GH
[f4 1) 40 6 (F§ 1) v 55 cm? 6
2D fii2
(21 | (1) [ & 8 || 2 [ o B L] 8
ABCD i1 1 0OE S 4cm OEZABT,
AABR & APQR iZBW\T, CE =2 (cm), BE L CD Z»b,
BOICH 5 FRARE LLh b, B=2v3 (cm)
Cbh b,
ZBAQ = ZQPR .
AP=gz L¥5Lk, AABP CZEHOERLY,
Fighb,
BP? = AB? — AP?
ZBAR = ZQPR - @
' — 42 e 32
SIS LD, 16— e @
ZARB = /PRQ @ Fikic, AEBP CEAOEHRLE Y,
@, @xv, BP? = BE? — EP?
2 OB BTN ENELNND, = (2v3)" - (4 — =)
AABR o APQR sl et = )
O, @kv,
16—2? = -4+ 8z —2?
_20 _ 5
T=R T
Lo,
_ 5
AP =3 (cm)
() A= & an |
R S )
[#13
(F4 3) 3@ em? 6
= & & ¥=3 SR
2
(M2 (2| AR:RQ= 38 6




